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6FEATOYVY 427 (BD583) 5/5(F/N)
=EhFyvh—-X EscC ALTUd |[BAEIZTB| A | AE | A8 | B
=hFyh—X 3-1 8-0 6-0 9 | 16 | 17 | 1
HsC 1-3 2-0 0-1 3 |-1] 31| 3
LT 0-8 0-2 0-1 0 |-11| 0 | 4
#Mit&ass578| 0-6 1-0 1-0 6 | 4| 2 | 2
65EBIOvY 427 (H5835)
KLHA | WA HE £5C | Ba | Az | Bs | B
CLEFA 1-0 7-0 6 | 8 | 8 | 1
o A 0-1 3-1 3 | 1 3 | 2
#£sc 0-7 1-3 0| -9 | 1 3
65ECTOvY 4727 (RN
HIBISTA| HikvEL |FCTIRA— | Bim | AE | &4 | B
B ISTA 1-0 5-0 6 | 6 | 6 | 1
FARLEL 0-1 2-0 3 | 1 2 | 2
FCPIRA— 0-5 0-2 0o|-7| 01| 3
6EDTOYY 4727 (FHEEMN)
TEDE | BEILSSS | XUEHEB | A | A | s | IE
kD4 2-1 4-1 6 | 4 | 6 | 1
EEHILSSS 1-2 1-0 30| 2| 2
KLEHB 1-4 0-1 0 | -4 | 1 3
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45EATOYY 4729 (F/M)

#MIEI57 | EEFILUSSS f£sC BR | RE | B | B

MitEIST 2-0 6-0 6 8 8 1
=8lsss 0-2 3-1 3 0 3 2
#sc 0-6 1-3 0 -8 1 3

4£B7T0vY 4/29(F/D)

®EscC HROFE MIEEE | BR | RE | B8 | B

#sc 0-2 3-0 3 1 3 2
FRVFRE 2-0 6-0 6 8 8 1
b B A= 0-3 0-6 0 =9 0 3

4f£CcOvy 4./729(H505)

D<LEA kb E |FCTIRZ— | B | RZE | 85 | JEL

2{LEFA 0-0 4-0 4 4 4 1
EDE 0-0 12 1 -1 1 3
FC7IRA— 0-4 2~ 3 =3 2 2

45EDTOYY 4.729(D5H)

=hFvh—-X| 4LTd XLEB | Ba | AE | B4 | B

Fleeyh=2A 0-1 20 3 1 2 2

A1LTd 1-0 1-0 6 2 2 1

2KLEHB 0-2 0-1 0 -3 0 3




